
Họ và Tên: Lời giảiPhép chia dưới dạng Phép trừ lặp lại (Dòng số)

Toán Học vn.CommonCoreSheets.com 8 1-10 90 80 70 60 50 40 30 20 10 0

Câu  trả  lờ i

1. 8

2. 7

3. 7

4. 7

5. 8

6. 4

7. 5

8. 3

9. 6

10. 8

Sử dụng trục số để giải bài toán chia.

1) 40:5=
0 40-5 -5 -5 -5 -5 -5 -5 -5

2) 28:4=
0 28-4 -4 -4 -4 -4 -4 -4

3) 42:6=
0 42-6 -6 -6 -6 -6 -6 -6

4) 56:8=
0 56-8 -8 -8 -8 -8 -8 -8

5) 56:7=
0 56-7 -7 -7 -7 -7 -7 -7 -7

6) 20:5=
0 20-5 -5 -5 -5

7) 35:7=
0 35-7 -7 -7 -7 -7

8) 24:8=
0 24-8 -8 -8

9) 30:5=
0 30-5 -5 -5 -5 -5 -5

10) 32:4=
0 32-4 -4 -4 -4 -4 -4 -4 -4
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